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𝑃𝑖.𝑡 =
𝑃𝑖,𝑡

0

𝐹𝑋𝑖,𝑡 

• 𝑃𝑖,𝑡
0

• 𝐹𝑋𝑖,𝑡

• 𝑃𝑖.𝑡 

𝐴𝑑𝑗𝑢𝑠𝑡𝑒𝑑𝑆𝑡𝑜𝑐𝑘𝑀𝑎𝑟𝑘𝑒𝑡𝑉𝑎𝑙𝑢𝑒𝑖 = 𝑃𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 ∗ 𝐼𝑊𝐹𝑖 ∗ 𝐹𝑥𝑅𝑎𝑡𝑒𝑖 ∗ 𝐴𝑊𝐹𝑖

 

𝐴𝑊𝐹𝑖

𝑡
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𝐴𝑊𝐹 𝑖 𝑡

𝐴𝑊𝐹𝑖.𝑡 =
𝐶𝑊𝑖,𝑡

𝑊𝑖,𝑡 

𝑊𝑖,𝑡

𝐶𝑊𝑖,𝑡

𝑖 𝑡

𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑡 = 𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑡−1 ∗
𝑀𝑉𝑡

𝑀𝑉𝑡−1 

• 𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑡

• 𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑡−1

• 𝑀𝑉𝑡

• 𝑀𝑉𝑡−1

𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑎𝑓𝑡𝑒𝑟 𝑟𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑖𝑛𝑔 = 𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑡−1 ∗
𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒𝑎𝑓𝑡𝑒𝑟 𝑟𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑖𝑛𝑔

𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒𝑏𝑒𝑓𝑜𝑟𝑒 𝑟𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑖𝑛𝑔 

𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒 = ∑ 𝑃𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 ∗ 𝐼𝑊𝐹𝑖 ∗ 𝐹𝑥𝑅𝑎𝑡𝑒𝑖 ∗ 𝐴𝑊𝐹𝑖

𝑖  
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𝑇𝑜𝑡𝑎𝑙𝐷𝑎𝑖𝑙𝑦𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑 = ∑ 𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖

𝑖 

• 𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑𝑖 𝑖
• 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 𝑖

𝑇𝑜𝑡𝑎𝑙𝐷𝑎𝑖𝑙𝑦𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑

𝐼𝑛𝑑𝑒𝑥𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑 =
𝑇𝑜𝑡𝑎𝑙𝐷𝑎𝑖𝑙𝑦𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑

𝐷𝑖𝑣𝑖𝑠𝑜𝑟 

𝐷𝑇𝑅

𝐷𝑇𝑅𝑡 =
𝐼𝑛𝑑𝑒𝑥𝐿𝑒𝑣𝑒𝑙𝑡 + 𝐼𝑛𝑑𝑒𝑥𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑𝑡

𝐼𝑛𝑑𝑒𝑥𝐿𝑒𝑣𝑒𝑙𝑡−1 
− 1

𝐷𝑇𝑅

𝑇𝑜𝑡𝑎𝑙 𝑅𝑒𝑡𝑢𝑟𝑛 𝐼𝑛𝑑𝑒𝑥𝑡 = 𝑇𝑜𝑡𝑎𝑙 𝑅𝑒𝑡𝑢𝑟𝑛 𝐼𝑛𝑑𝑒𝑥𝑡−1 ∗ (1 + 𝐷𝑇𝑅𝑡)
 

𝑇𝑜𝑡𝑎𝑙𝐷𝑎𝑖𝑙𝑦𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑 = ∑ 𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 ∗ (1 − 𝑊𝑖𝑡ℎℎ𝑜𝑙𝑑𝑖𝑛𝑔𝑅𝑎𝑡𝑒𝑖)

𝑖  
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𝑃𝑖.𝑡 =
𝑃𝑖,𝑡

0

𝐹𝑋𝑖,𝑡 

• 𝑃𝑖,𝑡
0
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• 𝐹𝑋𝑖,𝑡

• 𝑃𝑖.𝑡 

𝐼𝑛𝑑𝑒𝑥 𝐿𝑒𝑣𝑒𝑙 =
𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒

𝐷𝑖𝑣𝑖𝑠𝑜𝑟 

𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒 = ∑ 𝑃𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 ∗ 𝐼𝑊𝐹𝑖

𝑖 

𝐼𝑊𝐹

𝐴𝑑𝑗𝑢𝑠𝑡𝑒𝑑𝑆𝑡𝑜𝑐𝑘𝑀𝑎𝑟𝑘𝑒𝑡𝑉𝑎𝑙𝑢𝑒𝑖 = 𝑃𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 ∗ 𝐼𝑊𝐹𝑖 ∗ 𝐹𝑥𝑅𝑎𝑡𝑒𝑖 ∗ 𝐴𝑊𝐹𝑖

 

𝐴𝑊𝐹𝑖

𝐴𝑊𝐹 𝑖 𝑡

𝐴𝑊𝐹𝑖.𝑡 =
𝑍

𝑁 ∗ 𝐹𝑙𝑜𝑎𝑡𝐴𝑑𝑗𝑢𝑠𝑡𝑒𝑑𝑀𝑎𝑟𝑘𝑒𝑡𝑉𝑎𝑙𝑢𝑒𝑖,𝑡 

𝑁 𝑍
𝐴𝑊𝐹
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𝐷𝑖𝑣𝑖𝑠𝑜𝑟𝑎𝑓𝑡𝑒𝑟 𝑟𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑖𝑛𝑔 =
𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒𝑎𝑓𝑡𝑒𝑟 𝑟𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑖𝑛𝑔

𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒𝑏𝑒𝑓𝑜𝑟𝑒 𝑟𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑖𝑛𝑔 

𝐼𝑛𝑑𝑒𝑥 𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒 = ∑ 𝑃𝑖 ∗ 𝑆ℎ𝑎𝑟𝑒𝑠𝑖 ∗ 𝐼𝑊𝐹𝑖 ∗ 𝐹𝑥𝑅𝑎𝑡𝑒𝑖 ∗ 𝐴𝑊𝐹𝑖

𝑖  
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http://www.spdji.com/
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𝐻𝐼(𝑡) = 𝑁𝐴𝐹 ∗ ∑ { 𝑊𝑒𝑖𝑔ℎ𝑡𝑖,𝑀−2 × 𝐹𝑋𝑅𝑎𝑡𝑒𝑖,𝑀−2 × (
1

𝐹𝐹 𝑅𝑎𝑡𝑒𝑖,𝑀−1
−

1

𝐹𝐹 𝑅𝑎𝑡𝑒𝑖,𝑜𝑑𝑑−𝑑𝑎𝑦𝑠𝑡

)}

𝑛

𝑖=1

• 𝑡

• 𝑁𝐴𝐹  𝐹𝐹𝑅𝑎𝑡𝑒1−𝑚𝑜𝑛𝑡ℎ𝑡
= 1 month forward rate at time 𝑡.

• 𝑀

• 𝐻𝐼(𝑡) 𝑡

• 𝑊𝑒𝑖𝑔ℎ𝑡𝑖,𝑀−2

• 𝐹𝑋𝑅𝑎𝑡𝑒𝑖,𝑀−2

• 𝐹𝐹𝑅𝑎𝑡𝑒𝑖,𝑀−1 
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• 𝐹𝐹 𝑅𝑎𝑡𝑒𝑖,𝑜𝑑𝑑−𝑑𝑎𝑦𝑠𝑡
 𝑖

𝑡

𝐻𝐼(𝑡) = 𝑁𝐴𝐹 ∗  ∑ { 𝑊𝑒𝑖𝑔ℎ𝑡𝑖,𝑀−2 × 𝐹𝑋𝑅𝑎𝑡𝑒𝑖,𝑀−2 × (
1

𝐹𝐹 𝑅𝑎𝑡𝑒𝑖,𝑀−1
−

1

𝐹𝐹 𝑅𝑎𝑡𝑒𝑖,𝑜𝑑𝑑−𝑑𝑎𝑦𝑠𝑡

)}

𝑛

𝑖=1

• 𝐹𝑋𝑅𝑎𝑡𝑒𝑡 𝑡
 

• 𝐹𝐹𝑅𝑎𝑡𝑒1−𝑚𝑜𝑛𝑡ℎ𝑡
 𝑡 

 
• 𝑂𝑑𝑑 − 𝐷𝑎𝑦𝑠𝑡 

𝑡  
 

𝐻𝑒𝑑𝑔𝑒𝑑 𝐼𝑛𝑑𝑒𝑥 =  
𝐼(𝑇𝑅𝑁𝑒𝑡)𝑡

𝐼(𝑇𝑅𝑁𝑒𝑡)𝑀−1
− 1 + 𝐻𝐼(𝑡)
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• 

• 

• 

• 

• 

 𝐼

 𝑆 𝐼

 𝐶𝑎𝑙 𝐼 𝑆

 𝐸𝑜𝑛𝑖𝑎

𝐼

 𝛴 𝐼

 𝜎𝑆(𝑡𝑖) 𝑆 𝑡𝑖

 𝑊𝑚𝑎𝑥 = 1
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 𝜀 = 0.05

 

𝜎̃𝑆(𝑡𝑗) = √
252

𝑁𝜎
∗ ∑ log2

𝑆(𝑡𝑗−𝐿𝜎−𝑘)

𝑆(𝑡𝑗−𝐿𝜎−𝑘−1)

𝑁𝜎−1

𝑘=0

• 𝑁𝜎 = 22
• 𝐿𝜎 = 0

 

𝜎̃𝑆(𝑡𝑗) =
1

𝑁𝐴
∗ ∑ 𝜎̃𝑆(𝑡𝑗−𝑘)

𝑁𝐴−1

𝑘=0

• 𝑁𝐴 = 3



 

 

 

 

22 

 

 𝜎𝑆(𝑡𝑖) = max𝑘=0
𝑀−1𝜎̅𝑆(𝑡𝑖−𝐿𝑀−𝑘)

• 𝑀 = 20
• 𝐿𝑀 = 1

𝑊

• 𝑡0 𝑊(𝑡0)
𝑊𝑚𝑎𝑥

• 𝑡𝑖 𝑖 > 0
𝑊𝑡𝑎𝑟𝑔𝑒𝑡(𝑡𝑖)

• 𝑊̃(𝑡𝑖)
𝑅(𝑡𝑖) 𝐼(𝑡𝑖)

𝛿(𝑡𝑖)
• 𝜀 = 5%

• 

𝑊(𝑡0) = min {𝑊𝑚𝑎𝑥 ,
𝛴

𝜎𝑆(𝑡0)
}

𝑊𝑡𝑎𝑟𝑔𝑒𝑡(𝑡𝑖) =
𝛴

𝜎𝑆(𝑡𝑖)
  𝜎𝑆(𝑡𝑖) > 0   𝑊𝑚𝑎𝑥

𝑊̃(𝑡𝑖) = 𝑅(𝑡𝑖) 𝐼(𝑡𝑖)⁄
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𝛿(𝑡𝑖) = abs {
𝑊̃(𝑡𝑖)

𝑊𝑡𝑎𝑟𝑔𝑒𝑡(𝑡𝑖)
− 1}

𝑊(𝑡𝑖)

𝛿(𝑡𝑖) <= 𝜀 𝑊(𝑡𝑖) = 𝑊̃(𝑡𝑖)

𝑊(𝑡𝑖) = min{𝑊𝑚𝑎𝑥, 𝑊𝑡𝑎𝑟𝑔𝑒𝑡(𝑡𝑖)}

𝑖 =

𝐼(𝑡0) = 100[𝐸𝑈𝑅]

𝑊(𝑡0) = min {𝑊𝑚𝑎𝑥,
𝛴

𝜎𝑆(𝑡0)
}

𝑖 ≥ 1 𝐼

𝐼(𝑡𝑖) = 𝑅(𝑡𝑖) + 𝐵(𝑡𝑖)

𝑅(𝑡𝑖) = 𝐼(𝑡𝑖−1) ∗ 𝑊(𝑡𝑖−1) ∗
𝑆(𝑡𝑖)

𝑆(𝑡𝑖−1)

𝐵(𝑡𝑖) = 𝐼(𝑡𝑖−1) ∗ (1 − 𝑊(𝑡𝑖−1)) ∗ (1 + 𝐸𝑂𝑁𝐼𝐴(𝑡𝑖−1)
𝑡𝑖 − 𝑡𝑖−1

360
)
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 2019 2020 2021 2022 2023 2024 2025 

Max. gCO2/kWh 429 408 393 374 354 335 315 
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• 

• 𝑟𝑏 = 𝑡 − 1

• 𝑑 = 1

• 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡𝑅𝑎𝑡𝑒𝑖−1 = 𝐸𝑢𝑟𝑖𝑏𝑜𝑟 3𝑚

• 𝐷𝑖−1,𝑡 = 𝑇ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐𝑎𝑙𝑒𝑛𝑑𝑎𝑟 𝑑𝑎𝑦𝑠 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑑𝑎𝑦 𝑖 − 1 𝑎𝑛𝑑 𝑑𝑎𝑦 𝑡

• 𝐾𝑟𝑏 = min(max𝐾, 𝑇𝑎𝑟𝑔𝑒𝑡𝑉𝑜𝑙𝑎𝑡𝑖𝑙𝑖𝑡𝑦 𝑅𝑒𝑎𝑙𝑖𝑧𝑒𝑑𝑉𝑜𝑙𝑎𝑡𝑖𝑙𝑖𝑡𝑦𝑟𝑏−𝑑⁄ )

        = min(max𝐾, 𝑇𝑎𝑟𝑔𝑒𝑡𝑉𝑜𝑙𝑎𝑡𝑖𝑙𝑖𝑡𝑦 𝑅𝑒𝑎𝑙𝑖𝑧𝑒𝑑𝑉𝑜𝑙𝑎𝑡𝑖𝑙𝑖𝑡𝑦𝑟𝑏−1⁄ )

        = min(max𝐾, 𝑇𝑎𝑟𝑔𝑒𝑡𝑉𝑜𝑙𝑎𝑡𝑖𝑙𝑖𝑡𝑦 𝑅𝑒𝑎𝑙𝑖𝑧𝑒𝑑𝑉𝑜𝑙𝑎𝑡𝑖𝑙𝑖𝑡𝑦𝑡−2⁄ )

• 

• 

• 
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√
252

20
× 𝑉𝑎𝑟𝑖𝑎𝑛𝑐𝑒20,𝑡−2

• 
1

20
× ∑ 𝑙𝑛(

𝑈𝑛𝑑𝑒𝑟𝑙𝑦𝑖𝑛𝑔𝐼𝑛𝑑𝑒𝑥𝑖

𝑈𝑛𝑑𝑒𝑟𝑙𝑦𝑖𝑛𝑔𝐼𝑛𝑑𝑒𝑥𝑖−1
)2𝑡−2

𝑖=𝑡−21

• 

• 

• 

• 

𝑅𝑖𝑠𝑘𝐶𝑜𝑛𝑡𝑟𝑜𝑙𝐼𝑛𝑑𝑒𝑥𝑅𝑒𝑡𝑢𝑟𝑛𝑡 =

𝐾𝑟𝑏 (
𝑈𝑛𝑑𝑒𝑟𝑙𝑦𝑖𝑛𝑔𝐼𝑛𝑑𝑒𝑥𝑡

𝑈𝑛𝑑𝑒𝑟𝑙𝑦𝑖𝑛𝑔𝐼𝑛𝑑𝑒𝑥𝑟𝑏
− 1) + (1 − 𝐾𝑟𝑏) ∗ [ ∏ (1 + 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡𝑅𝑎𝑡𝑒𝑖−1 ∗ 𝐷𝑖−1,𝑖 360⁄ )

𝑡

𝑖=𝑟𝑏+1

− 1]

 

𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡 = 𝑅𝑖𝑠𝑘𝐶𝑜𝑛𝑡𝑟𝑜𝑙𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑟𝑏 ∗ (1 − 𝑅𝑖𝑠𝑘𝐶𝑜𝑛𝑡𝑟𝑜𝑙𝐼𝑛𝑑𝑒𝑥𝑅𝑒𝑡𝑢𝑟𝑛𝑡)
 

𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡 = 𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡−1 ∗ (
𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡

𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡−1
−

𝐹𝑒𝑒

𝑁
∗ 𝐴𝐶𝑇(𝑡, 𝑡 − 1))
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• →

• →
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• 𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡

• 𝐹𝑒𝑒

• 𝑁

• 𝐴𝐶𝑇(𝑡, 𝑡 − 1)

𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡 = 𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡−1 ∗ (
𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡

𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡−1
−

𝐹𝑒𝑒

𝑁
∗ 𝐴𝐶𝑇(𝑡, 𝑡 − 1))
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• →

• →
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• 𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡

• 𝐹𝑒𝑒

• 𝑁

• 𝐴𝐶𝑇(𝑡, 𝑡 − 1)

𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡 = 𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡−1 ∗ (
𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡

𝑃𝑎𝑟𝑒𝑛𝑡𝐼𝑛𝑑𝑒𝑥𝑉𝑎𝑙𝑢𝑒𝑡−1
−

𝐹𝑒𝑒

𝑁
∗ 𝐴𝐶𝑇(𝑡, 𝑡 − 1))
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https://www.confluence.com/index-governance/
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• 

• 

• 

https://eur-lex.europa.eu/legal-content/EN/TXT/?uri=CELEX%3A32020R1816&qid=1606994496086
https://eur-lex.europa.eu/legal-content/EN/TXT/?uri=CELEX%3A32020R1816&qid=1606994496086
https://eur-lex.europa.eu/legal-content/EN/TXT/?uri=CELEX%3A32020R1816&qid=1606994496086
https://eur-lex.europa.eu/legal-content/EN/TXT/?uri=CELEX%3A32020R1816&qid=1606994496086
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1817&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1817&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1817&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1817&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1818&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1818&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1818&from=EN
https://eur-lex.europa.eu/legal-content/EN/TXT/PDF/?uri=CELEX:32020R1818&from=EN
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Equity Index family 

Combined ESG Factors 

DISCLOSURES TYPE FORMULA 

Weighted average ESG 
rating of the benchmark. 

Voluntary 

∑(𝜔𝑖 ∗ 𝐸𝑆𝐺𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐸𝑆𝐺𝑖 = Overall ESG score of security 𝑖  

Overall ESG rating of top 
ten benchmark 
constituents by weighting 
in the benchmark. 

Voluntary 
List of Top 10 Holding and securities’ ESG ratings 

Environmental Factors 

Weighted average 
environmental rating of the 
benchmark. 

Voluntary 

∑(𝜔𝑖 ∗ 𝐸𝑁𝑉𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐸𝑁𝑉𝑖 = Environments pillar score of security 𝑖 

Exposure of the benchmark 
portfolio to climate-related 
physical risks, measuring 
the effects of extreme 
weather events on 
companies’ operations and 
production or on the 
different stages of the 
supply chain (based on 
issuer exposure) 

Voluntary 

∑(𝜔𝑖 ∗ 𝑃ℎ𝑦𝑠𝑖𝑐𝑎𝑙𝑅𝑖𝑠𝑘𝑆𝑐𝑜𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝑃ℎ𝑦𝑠𝑖𝑐𝑎𝑙𝑅𝑖𝑠𝑘𝑆𝑐𝑜𝑟𝑒𝑖 = climate related physical risks for security 𝑖, expressed as a weighted  average physical risk score 

 with exposure to a moderate climate change scenario in the year 2030.  

http://www.ecpigroup.com/
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Degree of exposure of the 
portfolio to the sectors 
listed in Sections A to H and 
Section L of Annex I to 
Regulation (EC) No 
1893/2006 of the European 
Parliament and of the 
Council as a percentage of 
the total weight in the 
portfolio (NACE Revision 2 
Sector classification codes: 
A-H, L). 

Compulsory 

∑(𝜔𝑖 ∗ 𝐻𝐶𝐼𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 =  index weight for security 𝑖 

𝐻𝐶𝐼𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 =  1, if issuer 𝑖 belongs to a high climate impact sector listed in Sections A to H and Section L of  

Annex I to Regulation (EC) No 1893 − 2006 of the European Parliament and of the Council 

𝐻𝐶𝐼𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 =  0, otherwise 

Greenhouse gas (GHG) 
intensity of the benchmark. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐶𝑎𝑟𝑏𝑜𝑛𝐼𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐶𝑎𝑟𝑏𝑜𝑛𝐼𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦𝑖 =  Greenhouse gases divided by revenue for security 𝑖 (tonnes CO2e/USD mn ), 

calculated as emissions from direct operations of the company and those of its suppliers 

Percentage of GHG 
emissions reported versus 
estimated. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐶𝑎𝑟𝑏𝑜𝑛𝐷𝑖𝑠𝑐𝑙𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐶𝑎𝑟𝑏𝑜𝑛𝐷𝑖𝑠𝑐𝑙𝑜𝑠𝑢𝑟𝑒𝑖 =  Percentage of GHG emissions reported for security 𝑖 

Exposure of the benchmark 
portfolio to companies the 
activities of which fall 
under Divisions 05 to 09, 19 
and 20 of Annex I to 
Regulation (EC) No 
1893/2006. (NACE Revision 
2 Sector division codes: 05-
09, 19 and 20) 

Compulsory 

∑(𝜔𝑖 ∗ 𝐵𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐵𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 belongs to a brown sector falling under Divisions 05 to 09, 19 and 20 of Annex I  

to Regulation (EC) No 1893/2006 

𝐵𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Exposure of the benchmark 
portfolio to activities 
included in the 
environmental goods and 
services sector, as defined 
in Article 2, point (5) of 
Regulation (EU) No 
691/2011 of the European 
Parliament and of the 
Council. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐸𝐺𝑆𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐸𝐺𝑆𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 belongs to an environmental goods and services sector as defined in Article 2   

point (5) of Regulation (EU) No 691 −  2011 of the European  Parliament and of the Council. 

𝐸𝐺𝑆𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Social Factors 

Weighted average social 
rating of the benchmark. 

Voluntary 

∑(𝜔𝑖 ∗ 𝑆𝑂𝐶𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝑆𝑂𝐶𝑖 = Social pillar score of security 𝑖 

International treaties and 
conventions, United 
Nations principles or, 
where applicable, national 
law used in order to 
determine what constitutes 
a ‘controversial weapon’.  

Compulsory 

ECPI considers depleted uranium weapons and nuclear weapons, chemical, biological weapons, anti-personnel mines, 

cluster munitions to be controversial weapons. Exclusion rules follow the prohibitions defined in the following treaties 

and conventions: 1) Conventions and Treaties on Cluster Munitions (The Ottawa Treaty 1997, The Convention on Cluster 

Munitions 2008); 2) Convention on the Prohibition of the Development, Production and Stockpiling of Bacteriological 

(Biological) and Toxin Weapons (1975); Treaty on the Non-Proliferation of Nuclear Weapons (1968); The Chemical 

Weapons Convention (1997). 
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Weighted average 
percentage of benchmark 
constituents in the 
controversial weapons 
sector. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐶𝑊_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐶𝑊_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 belongs to controversial weapons sector 

𝐶𝑊_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Weighted average 
percentage of benchmark 
constituents in the tobacco 
sector.  

Compulsory 

∑(𝜔𝑖 ∗ 𝑇_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝑇_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 belongs to tobacco sector 

𝑇_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Number of benchmark 
constituents subject to 
social violations, as referred 
to in international treaties 
and conventions, United 
Nations principles and, 
where applicable, national 
law. 

Compulsory 

∑ 𝐻𝑅𝐿𝑅_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖

𝑖

 

𝐻𝑅𝐿𝑅_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 is subject to very severe controversies related to Human Rights and Labour Rights 

𝐻𝑅𝐿𝑅_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Exposure of the benchmark 
portfolio to companies 
without due diligence 
policies on issues addressed 
by the fundamental 
International Labor 
Organization Conventions 1 
to 8. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐼𝐿𝑂_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐼𝐿𝑂_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 is not involvend in significant labour related controversy 

𝐼𝐿𝑂_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, 𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒 

Weighted average gender 
pay gap. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐺𝑒𝑛𝑑𝑒𝑟𝑃𝑎𝑦𝐺𝑎𝑝𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐺𝑒𝑛𝑑𝑒𝑟𝑃𝑎𝑦𝐺𝑎𝑝𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒𝑖 =  Gender Pay Gap  of issuer 𝑖 

Weighted average ratio of 
female to male board 
members. 

Compulsory 

∑ (𝜔𝑖 ∗
𝐵𝑜𝑎𝑟𝑑𝐹𝑒𝑚𝑎𝑙𝑒𝑅𝑎𝑡𝑖𝑜𝑖

1 − 𝐵𝑜𝑎𝑟𝑑𝐹𝑒𝑚𝑎𝑙𝑒𝑅𝑎𝑡𝑖𝑜𝑖
)

𝑖

 

𝜔𝑖 =  𝑖𝑛𝑑𝑒𝑥 𝑤𝑒𝑖𝑔ℎ𝑡 𝑓𝑜𝑟 𝑠𝑒𝑐𝑢𝑟𝑖𝑡𝑦 𝑖 

𝐵𝑜𝑎𝑟𝑑𝐹𝑒𝑚𝑒𝑎𝑙𝑒𝑅𝑎𝑡𝑖𝑜𝑖 =  𝑃𝑒𝑟𝑐𝑒𝑛𝑡. 𝑜𝑓 𝑓𝑒𝑚𝑎𝑙𝑒 𝑏𝑜𝑎𝑟𝑑 𝑚𝑒𝑚𝑏𝑒𝑟𝑠 𝑜𝑓 𝑖𝑠𝑠𝑢𝑒𝑟 𝑖 

Weighted average 
percentage of benchmark 
constituents with health & 
safety related controversies 

Compulsory 

∑(𝜔𝑖 ∗ 𝑂𝐻𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝑂𝐻𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 is involvend in significant occupational health and safety related controversy 

𝑂𝐻𝑆_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Weighted average 
percentage of benchmark 
constituents with 
corruption/bribery related 
controversies 

Compulsory 

∑(𝜔𝑖 ∗ 𝐶&𝐵_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐶&𝐵_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 1, if issuer 𝑖 is involvend in significant corruption and bribery related controversy 

𝐶&𝐵_𝐸𝑥𝑝𝑜𝑠𝑢𝑟𝑒𝑖 = 0, otherwise 

Governance Factors 
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Weighted average 
governance rating of the 
benchmark. 

Voluntary 

∑(𝜔𝑖 ∗ 𝐺𝑂𝑉𝑖)

𝑖

 

𝜔𝑖 =  index weight for security 𝑖 

𝐺𝑂𝑉𝑖 =  Governance pillar score of security 𝑖 

Weighted average 
percentage of board 
members who are 
independent. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐼𝑛𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡𝐵𝑜𝑎𝑟𝑑𝑅𝑎𝑡𝑖𝑜𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐼𝑛𝑑𝑒𝑝𝑒𝑛𝑑𝑒𝑛𝑡𝐵𝑜𝑎𝑟𝑑𝑅𝑎𝑡𝑖𝑜𝑖 =  Percentage of independent board members of issuer 𝑖 

Weighted average 
percentage of female board 
members. 

Compulsory 

∑(𝜔𝑖 ∗ 𝐵𝑜𝑎𝑟𝑑𝐹𝑒𝑚𝑎𝑙𝑒𝑅𝑎𝑡𝑖𝑜𝑖)

𝑖

 

𝜔𝑖 = index weight for security 𝑖 

𝐵𝑜𝑎𝑟𝑑𝐹𝑒𝑚𝑒𝑎𝑙𝑒𝑅𝑎𝑡𝑖𝑜𝑖 = Percentage of female board members of issuer 𝑖 
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